A & ol & AF & Ml A

20179 = =0l& e A
& 100 X2 A=<
2 110 XAl
g 111 E3Al (&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
E5 Al 31,132,000 28,117,000 3,015,000
100 X1 Al=¢ 31,132,000 28,117,000 3,015,000
110 XAl 31,132,000 28,117,000 3,015,000
111 ESAl 30,657,000 27,667,000 2,990,000
111-03 =2l Al 1,807,000 1,767,000 40,000
[ 23 ] 1,807,000 1,767,000 40,000
<ML > 1,807,000 1,767,000 40,000
OXHatg 430,000
—330m =t At A 250% = 1,720,000m 430,000
Ooose 377,000
— el 10,000 = 25,400Al CH 254,000
— ol ¥ IOHQIANS & 50,000& = 2,460H4 123,000
osgas= 200,000,000,000& * 0.005 1,000,000
111-04 TH & A 7,800,000 7,600,000 200,000
[ el A ] 7,800,000 7,600,000 200,000
<ML > 7,800,000 7,600,000 200,000
OFal-—3-- 720,000,000,000& =* 2.5/1,000 1,800,000
OEX= 2,000,000,000,000& = 2.5/1,000 5,000,000
o8z 666,666,667,000& * 1.5/1,000 1,000,000
111-05 X+ = XHAl 7,450,000 7,300,000 150,000
[ LEH3IAH ] 7,450,000 7,300,000 160,000
< MR > 7,450,000 7,300,000 160,000
OsEXsit 4,082,680
— 800ccOl 5t 80& * 800cc = 1,100CH = 0.7 49,280
— 1000ccOl &t 80&  1,000cc = 1,600CH = 0.7 89,600
— 1600ccOl Gt 1408 * 1,500cc * 3,400CH * 0.7 499,800
— 2000ccOl Gt 200& = 2,000cc * 8,200CH * 0.7 2,296,000
— 2000cc== 2t 200& = 2,000cc = 4,100CH * 0.7 1,148,000
Osg & stsitsxt 305,550
—-s& 42,000& = 1,100CH 46,200
— &= 28,500& = 9,100CH 259,350
OF&dA 3,061,770,000& 3,061,770
111-07 S A HIAl 4,300,000 4,100,000 200,000
[ 2etsl A ] 4,300,000 4,100,000 200,000




100 X2 A+=¢

X
I’Z 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2

<MW > 4,300,000 4,100,000 200,000
O=+=g &l 1,007& = 1,142,006 1,150,000
O=4&tE i 1,007& = 3,128,104 3,150,000

111-09 X &S Al 9,300,000 6,900,000 2,400,000

[ 2etsl A ] 9,300,000 6,900,000 2,400,000

<ML > 9,300,000 6,900,000 2,400,000
OAase 9,300,000
—aSAHE 43,000,000,000& = 10/100 4,300,000
—gelAg 50,000, 000,000& = 10/100 5,000,000

M3 At =42 475,000 450,000 25,000

113-01 AtE =+ 475,000 450,000 25,000

[ el A ] 475,000 450,000 25,000

<ML > 475,000 450,000 25,000
OXdEE =g 475,000,000& 475,000




